Pre-Calculus - Honors Lesson 89

Homework #89 Answers
From Houghton-Mifflin Precalculus 3" Edition
p775:

18) (4, 1, 9), (2, 1, 6) :
d=V4 -2+ -12+09-6=V4+0+9=+13

19) (-1, 4, -2), (5, -6, 2) L
d=(-1-52+(4--67+(-2-2)2%=+364+100+ 16 = V152 = 2438

25) A(1, -3, -2), B(5, -1, 2), ¢(-1, 1, 2)
AB =V -5 +(-3--12+(-2-2P%=V16+4+16=36=6
BC =B - -1+ (-1 -1 + (2 - 2 =36 + 4 + 0 = V40 = 2V10
CA=V(-1-1P+ (1 --32+(2--22=vV4+16+16 =36 =6

28) (2, -2, -8), (4, 4, 16)
M=[2(2+4),3(-2+4), (-8+16)]=(3 1,4

29) (6, -2, 5), (-4, 2, 6)
M = [3(6 + -4), $(-2 + 2), #(5 + 6)] = (1, O, 5.5)

33) center: (3, 2,4), r=4

(x -3+ (y-27+(z-4%=16
37) center: (-3, 7, 5), d = 10
(x+3P+(y-7°+(z-5¢=25

43) x> + y* + 2° + 4x - 82 +19=0
(¢ + 4x) + (¥°) + (2* - 82) = -19
(X2 +4x +4) + y? + (22 - 82+ 16) = -19 + 4 + 16
(x+2P+y* +(z-4)7=1
center: (-2, 0, 4), r=1

45) 9x? + 9y? + 922 - 18x - 6y - 722 + 73 = 0
9x% - 18x + 9y? - by + 92° - 72z = -73
9(x? - 2x) + 9(y? - 2/3y) + 9(z* - 82) = -73
90 - 2x + 1) + (y? - 2/3y + 1/9) + 9(2* - 8z + 16) = -73 + 9 + 1 + 144
9(x - 1) + 9y - 1/3)2 + 9(z - 4)? = 81
(x-1P+(y-1/3°+(z-472=9
center: (1, 1/3, 4), r = 3



